[image: Piko Kontur Lösung ]Zehner-1–1 im Kopf
Zahlraum bis 1000
Name: ________________				Datum:_________________
	1 Notiere die Ergebnisse.
a) ____________    b) ____________    c) ____________   d) ____________
	


	2 Rechne. 
	800
	–
	200
	=
	__________
	
	1 000
	–
	___________
	=  400

	900
	–
	500
	=
	__________
	
	1 000
	–
	___________
	=  200

	700
	–
	300
	=
	__________
	
	1 000
	–
	___________
	=  700



	

	3 Ergänze.
	450
	+
	___________
	=     500
	
	650
	+
	__________
	=   1 000

	920
	+
	___________
	=   1 000
	
	180
	+
	__________
	=   1 000

	730
	+
	___________
	=     800
	
	470
	+
	__________
	=   1 000



	

	4 Rechne.
	300
	–
	70
	=  ___________
	
	280
	–
	200
	=  ___________

	630
	–
	  5
	=  ___________
	
	570
	–
	 50
	=  ___________

	300
	–
	200
	=  ___________
	
	700
	–
	  3
	=  ___________

	450
	–
	  6
	=  ___________
	
	960
	–
	 40
	=  ___________



	







	  5   Zähle rückwärts.
	   in 10er Schritten
	______ , ______ , ______ , ______ , ______ , 760, 770

	   in 50er Schritten
	______ , ______ , ______ , ______ , ______ , 600, 650

	   in 20er Schritten
	______ , ______ , ______ , ______ , ______, 460, 480



	







	   6   Halbiere.
	Zahl
	  400
	600
	880
	540
	920

	Die Hälfte
	200
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